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B | RKXE | HEEEZBBL-| ZEBE*0.8ULD

(mg/L) |(mg/L)| BBIFHOERY | BEFHOERK
Y hnnr4y 0.02| 0.079 1 1
mig{bixz® 0.002 ND 0 0
1,2-Y 9AAI4Y 0.004 0.99 12 13
1,1-¥9AR1FLY 0.02| 0.0009 0 0
YA-1,2-Y9001FLYy 0.04f 0.11 1 1
1,1,1-M)90AT14Y 1| 0.0008 0 0
1,1,2-F)90014Y 0.006 ND 0 0
MJYOAIFLY 0.03] 0.51 2 3
FrHORIFLY 0.01| 0.0073 0 0
1,3-°9007° ANy 0.002 ND 0 0
NV Y, 0.01| 0.035 3 5
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EEE | &RKIE| HEELBALE: | HEEX0.8LULD

(mg/L) |(mg/L)| &BRIFOEREK £ H D ALK
DA 0.01| 0.008 0 1
YTV A | AR 0 0
£n 0.01] 0.39 6 9
AN liiiZerA 0.05 0.11 1 1
it == 0.01 5.8 49 50
7K E8 0.0005| 0.0014 1 1
TILEIVKER | AR | AR 0 0
LY 0.01 2.8 21 26
Aok 0.8 42 53 59
F39ES 1 3.6 22 27
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